254818 8RE BEHEEEXFEBEAODORUEHE

2511 B1BR7E BLETFEEEXFESBRAORUVHTE

g & B =i AR B | HEHK M2 B A0 % AQ UN=l HEH

I\ ithig 7,051 7,645 14,696 5,468 2& |WAEA 2K |RAEA| 2 |RABA 2& |RABEA
AFNHbig 3413 3,605 7,018 2,095 I\ ithig 7,038 39 7,636 97 14,674 136 5,491 95
B &bl 5,840 6,200 12,040 3,921 Kfihigk 3,397 8 3,579 10 6,976 18 2,107 16
=B 1,646 1,702 3,348 1,072 B S 5,799 61 6,162 71 11,961 132 3917 112
K ilfi Hhig 2,156 2,259 4,415 1,376 = B ihig 1,652 22 1,702 11 3,354 33 1,085 33
B Fithis 933 973 1,906 575 Kt Hhig 2,132 6 2,265 27 4,397 33 1,372 30
B ibig 941 1,043 1,984 716 B = ith g 914 1 958 5 1,872 6 567 6
B EH2HE 21,980 23,427 45,407 15,223 B ithig 921 13 1,026 32 1,947 45 705 45
MEmLHE 21,853 150 23,328 253 45,181 403 15,244 337
i (R A k) A 42 A5 A 16 A2 A 58 A7 1 A4

HEREXSBRAQFNAEAERZSD.

Bt =i =1 HE
7 SAEA (T2 4) 139 249 388 326 ER25F11A1HRE BEHTEREXRSERAORUHE(HREADH)

g & B Z | AD B | HER

I\ ihig 6,999 7,539 14,538 5,396
KFxhig 3,389 3,569 6,958 2,091
B Sithig 5,738 6,091 11,829 3,805

= B b g 1,630 1,691 3,321 1,052
Klfi high 2,126 2,238 4,364 1,342
BA = Bhigk 913 953 1,866 561
1 5 Hhig 908 994 1,902 660
MEmLHE 21,703 | 23,075 44,778 | 14,907
¥E (R A L) A 37 A 14 A 51 5




